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15811100 Zurq q< trc 268 3894 1043.6
03211300 Fnhtrd, q< Ltq 390 485 189,5
1.5851100 lfurLurnntr q< Ltq 320 485 155,5
15516000 lhnLd.ullurn q< qq 300 486 145,8
15421100 .FmuurLurh rnm q< thLnn 500 485 291,6
032211L7 Ornn /rlbnhtr/ q< llq 280 243 68,0
15331153 Ouu q< trc 400 243 97,2
15331151 Zururhh rnnh q< Uq 9s0 243 230,9
15541100 'tlurtrhn /pnh/ q< Uc 2000 486 972,0
15112150 2ullh ilhu Y< Ltq. 1380 485 670,7
15311100 9urnurn$hr g< Ltq L70 1460 248,2
15331161 Unlu qrmlu q< qq 250 243 60,8
L5333100 Snrlunnh rlurEntL q< Uq 850 746 124,1
032214s0 Vrunulln -f\ Uq 130 973 126,5
0322Lt10 Qtuqrup q< Uq 180 243 43,7
0322L100 Furqnr-h -t< Uq 180 243 43,7
03222728 IuLd.np q< rjg 330 973 321,1
15831000 Curpurnrudruq q< Uq 300 243 72,9
15872400 Un hhnruhnh q< Uq 180 97 17,5
03142510 Qnr q< nuLn 65 9735 632.8

Uq nruhphhn, ul14 rddnril
15897200 Ubbnh buhnnq 1 q< hr.r.rr"n 640 2505 1603,2
15897200 Utrhnh burhnnq 2 q< hum 77s 282L 2186,3
44221100 Thutnnrhurl: uu d.prun. 35000 I 280,0
44831500 I,nr-bfrltrhp uu fr*n 1700 t2 20,4

44810000 t hn\ (2pu4fruqhpufrntr ) uu tr*n 1680 30 50,4
44111413 3nr-rlutrhpU(Lhp\ ufrtrphurhL hhilpnrl ) uu tlr*p 2800 1.2 33,6

4411t420 9ntur2 UU hruur 10s0 J 3,2

44192800
tp&f L,Lhp\urpurpur\urh ur2]uruururhphhp

\urr.nruphlnr hrutiurp
UU huru

1000 2 2,0

44192700
L hp\ur qlurtrfr\,hhp\urpurpru\ruh
ru2]uulnurhpbhpfr hurilrup

uu hruur
2500 A

= 10,0



441 1 1800 Cu1ufu trhp /qfrquurl frtr / uu hq 80 150 12,0
249s1130 Ufrfr\ntrh pum[trhp uu hrurn tI70 10 11,7
441926L0 Uhlu,2|rhurprupur\ruh uu hq 900 2 1,9
2495t41,0 Jh{utr1 ntphp (ilh1ur1 }rtr bhr}runlurb}r\) uu hq 2s0 10 2,5
24951,410 Jht}t utrl ntpbp(qbulurul bh bhgunlurbfrll) UU qe 170 20 3,4
18421130 lhnhngtrhp (purtllnpru\urtr) uu qnqq 300 10 3,0
445tt260 lq\urpnulp UU hurtn 80 10 0,8
44423650 ft hufrtrh durqru{htrurphl hp uu rI t70 100 17,C
44423600 9q2n1tr durqru{hhhhfr ( fonphg) uu hurur 350 25 8,8
44423600 kqlmh durqunlhhhhp (hnuurtrpfr) uu hurur . 170 10 1,7
44423600 . trqlmh duqrurlhhhhp (funr1mlru\trhpfr) uu hurur 240 1) 3,6
444ItLt0 Qph bnnrub,rhrulurL uu hurr,n 4800 3 14,4
31684400 .{utp4ut1 uu hunn 500 5 2,5

44531110 Ourlurfr qtnmurur[trhp uu hurur 4 500 2,0
44192300 'tlurr.nnrhrutrruqnq,r4 1 ruuu,furuh uu qbil 4000 5 20,0
44t92t00 Oprlrnrp 2frtrurpupurlurh UU hur.n 2150 2 4,3
31531300 Strurhun4 trurJrqhn UU hruu 1050 z) 26,3
31521430 I.rurfq' pir-tffrhbughhulul|rh,36.{S, 220.{ uu huur 540 20

10,9
24910000 Unulrh&trhp uu hruur 1800 2 3,6
44511330 ttlurnr-uur\ uu hrur,n 35 100 3,5
44ItI4tI t hp\ (2puafruqhpufrntr,qpnttr4n{\ru ) IJU tr*n 980 10 9,8
44521120 lnurtr rJrur\urh uu hurtn 5000 I 5,0
44411740 qnrqupu0ur!n0p uu huur 35000 ? 105,0
44s11330 4nnLLnuquhu00bp uu hurur 800 5 4,Q
44511230 4nrrl uu hruur 2000 3 6,0
44511340 qu11[11n0[ uLuJnbn uu hurur 110 10 1,1
44511340 qu11[!n0[ uri]Jnbn uu hruur 200 6 1,2
37421170 0nrprI 0tldurpqurLlu 0 oquLl0bn UU hurr.n 3000 5 15,0
37451290 $nrmpnl[ q04u!0bp uu hur.n 8000 4 32,0
374574L0 pLuu[1bupnLh q04u!Ohp uu huru 8000 ? 24,0
37451580 {ngb1pn1f q04ut40bp uu huru 3300 4 13,2

37431340
dbnpf dL1ur00bp Jr nrdbqugdru0
uunpbn(nLdururh )

uu hurur 1200 6
7,2

24910000 unufrh&hhp (uurhllh ) UU hq 100 z) 2,5
44821000 I.urp,ilurhpurhulnru\f IJU l.tq 2310 30. 69,3

398380000
U{t1 qnqupfur\}r hhur il}ruru}rh' qluruuulurut uu hrurn 3600 J

18,0
3922t480 Qnr-qurpruhfr fu nqruhur\ hbp ITII hurur 1200 o 7,2
31s31210 h1h\upur\ruh luilq 60W, 80W, 100W UU hurtn 100 200 20,0
39831244 Odrun urtrurhuruburh uu hurtn 260 40 1Q,4
33761000 9mqrupurhfr pnr-r1p,nm1 ntrnr.l uu hrur,n 100 150 15,0
39831240 Uurppnrl lrtntp (dullhr) uu lhurr 140 40 5,6
18421140 Uh\utrqunilur oqurruqnpbriurtr &knbagtrtp uu hruu 230 100 23,0
39836000 U{h1 unrinpur\ruh uu hunn 1000 i0 10,0
3983t242 L{tugph r}rn2}r d.hnpntl r r.lruhurr nr- UU hruur 420 60 25,2
3983L246 Zhrlnt\,plugn4 rifrgno (qnnqh) UU hur.n 470 2,8
39812410 9urhntl pfr rJull lhgtlurh rlhlng uu hruur 930 ) 4,7
39831280 Uqulh rftuppnrl tihpng uu hur.n 380 20 7,6
39831271 Uqnr-hq uurhlnnurpurhhqhbtrhtl uu huur 260 45 11,7



39812600 Uuplnq rlurbnt\trhp h {rn2fhkp (nurlu2ur) uu hurtn 270 30 8,1
3981 1 100 C+h purnrfqgnlgh). uu hurur 380 J) 13,3
39831245 Qdurn, hkrlm\ (&hnpfr) uu huu,n 430 40 17,2
39831281 Uquhh rftupphlm lup uu hrurn 630 50 31,5
39831282 lurhnr-1p rftupphlnt pup uu hunn 360 20 7,2
39831283 lurtnur\f 1{rugrftuh lurp uu hurr.n 780 80 62,4
33761300 ehnpfr prph uppfrltrhp uu huur 420 80 33,6
33761400 @rUah urh&tnngfr\trhp UU huur 160 t20 19,2
33141118 f}urg urtr&hnngfr\ uu hruur t70 90 15,3
19641000 tln$hpfrlbhrulht q-n[ rurpfr hurilrup uu tnnL+ 770 75 57,8
19641000 'ln$hpfrlhl-rurlhh rqurn[ urrpfr hurilurp tru r'nnLqr 6s0 /) 48,9
31440000 tjufnn\ngtrhF uu hurur 100 100 10,0
22451190 tluullnqfrp uu hurr,n 100 300 30,0
39292500 Purhnb uu huru 100 10 1,0
22811130 Shurp (12 phpp) uu hurur 40 160 6,4
2281 1 130 Shurn (100phpp) uu hrurn 200 30 6,0
22811130 Shurp( aOphpp) uu hurur 150 40 6,0
2281,tt70 trq:nth phnplt\t hn tr2nuihhpir hrurftup uu hruur 220 l5 3,3
24911400 qnufL& (2np) UU hurtn 160 30 4,8
2491 1300 UnuhL& (hhr1m[) uu hurur 280 20 5,6
30192100 fthurfrtr huruurpuril uu hrurn 100 30 3,C
30192121 +b+h\ru{nn qnh: uu hrutn 100 100 10,0
30192123 blnriruutnhp uu hrur.n 880 ) 4,4
30192130 Ururnlnn uu hruur 100 10 1,0
30192160 Uurnhluhhnrrrr uu hunn 200 z) s,0
30192230 Vlqt hnq\"qrftuLrfr unutr&r.lub uu huur 270 20 5,4
30192230 U\n1(rihb) uu hunn 400 15 6,0
30192230 9\": ( S"pn) uu hrur.n 50 25 1,3
30192740 fdntrya qnrhrutlnp A4 &trruprlrfr uu huur 100 100 10,0
30192740 Onr-rya qnr-hullnp A4 d.hru2ullrlr (hruurn) LIU unL+ 2300 2 4,6
30192760 Upf2 un{npu\urh uu hurr,n t70 10 1,7
30192770 tlLuuurhhh urnr_rfrn{ uu urnt{r 680 30 20,4
30197121 ttndqull hF\urp3ru uu hruur 100 10 1,0
30197r22 !tn4q*,i ullruuur. qLluhhnrl UU hur.n 340 15 5,1
30197230 tlqPurulurtlu\ (20$ur1 1n{) u.u hutn 260 ZU 5,2
301,97230 Orpuqruhur\ (30$ru11nrl) uu hur.n 340 20 6,8
30197230 tdryauuluhru\ (urilpur\nr) uu hunn 100 20 2,0
30t97230 Orpuqrutrur\ (ulfpru! nrl ) uu hurur 200 2) 5,0
30197220 Oqph uripur\hhp uu hruur 150 30 4,5
30197231 5*JL uu huru 20 300 6,0
30197232 Unuqrulurp, fd{p1u uu hrurn 90 20 1,9
301,97234 Ilrlfauruiluhur!,\rZ* tluqttnrl uu hruu 700 10 7,0
30197632 Orop A4 $npilrurnfr LIU r.nnlfi 2400 40 96,0
30199430 fdnqp tr2mrftrhpfr hrurftup rnpgur\hhpml UU hurur 210 20 4,2
30199510 Uuu.lurFupnr-rua UU huru 280 40 11,2
30234300 Truunlpll u\ru{runu[,unurhg urntrfrfr CD uu huur 180 40 7,2
30234400 ]*-*fl1 u\ur{runur\, urnurtrg unu}r}r DVD uu hunn 240 40 9,6
4481 1500 apubhp\ uu hurn 780 30 23,4
39221440 '{n&hh hhurp2ru\ruh uu hrur.n 160 50 8,0



37821130 $nlhull nn tiururhr.nhhn uu hurtn 620 40 24,8

3782t160 qrur|hd qphlm, rnmrfrml uu hurtn 500 100 50,0

3752tt40 9nBurburh tuunhn (rhurrurh) uu hurr,n 2800 4 11,2

37s2r140 9ppur\urh to*qhp (frhurhlh\rnnr-urf uu hurr.n 4700 4 18,8

222rt200 Ilur2urnbur\urtr unluurgphp (<<Qnpbp> >) uu 4Furil 48000 1 48,0

22211100 fobp pb p (<<9ppmplnth>>2urpurpurptpp) uu +Furd 10400 1 10,4

Ournurlntlalr rrtrhhn
65311100 h1h\urpur\rutrnr-plurtr pru2funlil UU I{qS

44,98 1667s 750,0

6s211100 Fhru\utr qurqfr pur2|unul UU .3u 139 t0792 1 500,1

6s111100 tudhpr gplr pur2funul UU .3u 172 2035 350,0

90921200
.ttruruururmhhpfr rlhtl u{uJpurFh

Erunur3ntplntbhhp

uu +Furil 60000 4
I

60,0

90s1 1 1s0 Uqplr rlnfuru4ptftub Eurnurl ntp3nr-h IIIT uulhu 12000 12 144,0

642rrr20
tlfr2purrlurpui;|rh hhnurlunurulfrh

brunulnrralnthLrhn

uu rlpuni 62400 1

62,4

72700000 2,uniur\urpqSu3frh gubgh burnur3 mpSnth UU rurlfru 4800 t2 57,6

50531120
9rupuru;urururh hur\ruhp4hhulflt
rlrnp&ruphhmplruh burnrulntplntL

uu rlpuli 24000 1

24,0

50s3i130

9urpuur3fr uhfuh!\u\uL
ruhrlururhqntp3 urtr {rnp&urphhntpl ruh

EurnruSnrplmtr

UU rlFulJ 20300 1

20,3

50531140 Qnp&urpbhnr-plurh brunru3nt;oSntlrtrhp uu rlFuil 41220 1 41,2

50531 1s0
Qurqurlfrh uurpphpfr ulurhqurhilurl:
burnurlntralnth

uu rifirrril 36000 1

36,0

92420000
fdhpphpnr-rf hurl urrupurpnrpl nr-trhhpfr

rnqurqprlurtr Erunrulnrplnrtr

uu rlpruil 6000 4
I

6,0

50311240
'tururdhtrurhrutrnrl urupphpfr

tlhpurbnpnqrturh burnurlnr-plnthhhp

uu 4nurLt 100000 1

100,0

7221,tt74 lu2r{u qtu htu14tu 0 h u rltu L1 u nqlLlJ h 0

ipuqp u1 fr 0 r.lrur pbpOb p lr d2ru 1.1 d ru 0

!unutnrptnr00bn

uu 4Fluil 150000 1

150,0

80521200 Oruntgnrlur\ruh uhilfrhuphhp uu rlFuril 150000 1 150,0

50411190
hrullurhpqbhur1h0 uurnpbnh
tlbpu0npnqdu0 [ quhqu00ru0
6unu rnlBrnL00bn

rttt
ULA rlFulil 30000 I

30,0

79711t00
Uqqu02ru0ru1fr0 hrudru!tunqh dh gn gnLl

hu Unn nrsrru0 6unu rn rBrnr00bn
LIU urtifru 1s000 12

180,0

p04rudb0p 14844.2


